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1. 'Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that it
contains all the pages in correct sequence and thal no page/question is missing, Iy case of faulty
Question Booklet bring it 1o the notice of the Superintendent/Invigilators immedidtely 10 obtain a
feesh Question Booklet, ke

2. Do not bring any loose paper, written or blank, inside the Examinarion Hall except ite Admit Card
without its envelope. :

3. A separgie Answor Sheet is given. It should not be folded or multilated. A second Aieswer Sheet

shall not be provided. Oxrly the Answear Sheet will be evaluated,
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as unfarmenns,
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corresponding raw of the Answer Sheet, by pen as rmentioned ln the puidélines givén or the
first page of the Answer Skeet,

9, For each question, darken enly one ¢ircle on the Answer Sheet. If you darken more than one circie

or darken a circle partially, the answer witl be treated as incorrect.

18. Note that ihe answer once filled in ink camoi be chunged. If you do aot wish to atempl a
question, leave it the circles in the corresponding row blank {such question will be awarded

Zore RIArks). _

11. For E;lgh work. usc the inner back page of the-title cover and the blank page at the end of this
Hooklet.

12. Deposit only OMR Answer Sheed at the end of the Test.

13. You are not permitted to leave the Examination Hall until the end of the Test.

t4. if a candidate attempts to use any form of unfair means, he'she shall be liable to such punishiment as
the Universiry may determine and impose on him/her,
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14P/201/5(i)
No. of Questions : 150
g & Her @ 150

1
Time : 25 Hours Full Marks : 450
I
FRg 25 wwR yoriE - 450

Note : (1) Attempt as many questions as you can. Each question carries 3
" [Three) marks. One mark will be deducted for each incorrect
answer, Zero mark wiil be awarded for each unattempted

guestion.
TR T99T S &1 T W FHE BT | AE w3 ()

] o B F9T Tow I @ RO g% Hw FT AW
Ueh HET WY W AE YT B .

(2) T more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

afy TR Seeams 3T 8d 39T @ Mee sdw &, o Feseam
el ITT 4 :

01. Asole ﬁmpﬁemr deciced to use the same bank account for _his perrac!nal
affairs as for his business, Which of the following accounting principle

is viplated ? |
(1) QGoing concern - (2] Separate Entity
(3) Money Measurement (4} Verifiability abjective

@l 3 o A F ¥6 @l @ o el v 3 X
g%ﬁﬁﬁﬁnﬁﬂﬁ%ﬁﬁﬁﬁﬁiﬁ%mmmm

BAT ¢
(1) &9 =EER | 2) TuF ST
(3] == W (4) YR I3

3 P! Tlnl
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14P/201/6i{i)

02. Which is the accounting concept that requires the practice of crediting
closing stock to the trading account

(1] Going concemn (2) Realisation .
{3) Matching . 4) Cost

mﬁmwﬁﬁﬁﬂﬁmmﬁriﬁwmﬁ
#fFe fFoy T AERYE AT E 7

(1) O ST (@) agEn
(3) EHIIAT (4) @R

03. The primary qualities that make accounting information useful for
decision making are :

(1] Comparabilify and consistency

(2) Materiality and timeliness

(3) Relevance and freedom from bias

(4) Reliability and similarity |

ST QI B R B R S T & R SRS
o7 B B | |

(1) goTeTe o FreRar () D oF S

(3) wrEfEar oF Fragwer (4) FvErige oF ageger

04, Outstanding wages is classified as :
{1) Capital Expenditure
(2) Revenue Expenditure
(3} Defered Revenue Expenditure
(4] Defered Capitai Expenditure

4
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14P/201/5ii)

T FAR H ... & &9 T aiffga o sian 2

() 9=t =g (2} A =T

(3} wIE YR =J|Y (4) Wi gshira =g
05. Revenue expenditure is intended te benefit :

(1) Past period (2) Fuiure period

(3) Current period (4) Both {2} & (3)

ST T T ST B .ovvvevvvveeennnnnn. % forg

{1) T (2} wfren &

(3) =E 9A R 4) (2@ (3) =

06. Any expenditure incurred in order to reduce the operating expenses
is:

{1) Promotional Expenditure

(2) Defered revenue Expenditure
{3) Revenue Expenditure

(4} Capital Expenditure

ORI 4 W O HE B T T T OB T aeeeeene. BN B
(1) e+ =9 (2) & IrE &=
(3] SRy I (4) oI =Y
07. Premium received on issue of shares is a :
(1) Defered Capital receipt {2) Capital Receipt
(3} Revenue receipt (4) Defered revenue receipt
5 P.T.O.

L]
gcollegedunlae
India’s largest Student Review Platform

T



14P/201/5(i)

et B Prte 9T g e & ... mifeT =reft & -

(1) it OoE @R (2} §ERE S/

08.

09.

10.

- (3) ST ST /HIT @) wgfi|g STEEg ST aha

The appropriate method of depreciation to be adopted in case of live
staock is :

(1} Retirement method (2) Depletion method

(3] Appraisal method (4) Inventory systent

ALl ® dee 7 g @ gage @t ehwﬁ :
(1) Safgia (8= =iy 2) i I%qfi‘r |
(3) Jeareaier & 4) wry &Y

Which of the fellowing entry is not recorded in ‘Journal Proper ?

(1} Opening entry (2} Closing ﬁntry::

(3) Adjustment entty (4) Credit sales
Wﬁﬁﬁﬂ?ﬁﬁnﬁ:ﬁauﬂmmmmfﬂﬂﬁﬁmﬁrﬁﬁﬁ%?

(1) ok ufafe (2) @ifeer ufafes '

(3] THNEIEA Yl ) Iur Resg

Which one of the following satisfies the accqunting equation ? ~

(1} Assets + Liabilities = Owners' Equity
{2) QOwners' Equity + Liabilities = Assets
[3) Assets = Owners' Equity |

(4} Liabilities = Owners' Equuty
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11.

12.

14P/201/8(i}

Prafofaa & @ A9 a1 FGiHT THHTT B g FIO R 7
(1) waferay + sfr = @l @ |

(2) @Rt TFen + &R = i

(@) wofdt = w@pft awen

4 i = @ Hedar

An accrued expense can best be described as an amount :
(1) Paid and currently matched with revenue

{2] Paid and not currently matched with revenue

(3} nnl:li:a.id and not currently matched with revemie

(4) not paid and currently matched with revenue

@m(mcmedyammwmwﬂr%mﬁ'whfaa'mw
what ¥, o %

(1) aﬁ%waﬂqﬂmﬂﬁﬁm%

2) ww ¥ oig adEe e ¥ A o ¥

(3) TR ¥ owr gdWE AP ¥ A T8 @Rt §

(4) e B ar aduE o & dw @ 2|

Assets appearing in the books but having no value are known as :
(1] Wasting Assets (2) Intangibie Assets
(3] Fictitious Assaets (4) Current Assets

HafTE, ﬁ%gmﬂﬂmwtmmmgﬂaﬁw
2w .. .. Z87 o B

(1) mz’ﬁﬁ‘qﬁam (2) ana‘gfﬂtﬁﬂm
(3) weafE dafRer (4) R SR

T P.T.O.
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14P/201/5(i)

13. What is the amount of purchase when :

opening stock = 3500 T; closing steck = 1500 T; cost of goods role =
22000 ¥

w9 W g a9 2R, 99 |
R ' = 3500 oiftm s = 1500 ¥ fEhr aRgeit B
AT = 22000 2

(1) 200002 (2 24000% (3} 23500% 14) 25500 ¥

14. Which of the following accounts would not have zero balance after
closing entires have been ported ?

[1} Interest payable (2) Interest paid

(3) Salaries paid (4] Reat received °

sifey gfafiest #t GiRET =T 89 @ O Frfoiea § 4 g ax
# gy 9w e 8 ¢

(1] T == o (2) =0 e

(3) ¥ I8 (4} ST e

18. A and B are share profits and losses in the ratio of 4:3. they admit ¢
and the new profit sharing ratiois 3: 3: 2. Il C pays Rs. 7000 to words
goodwill, A will get . |

o M T 4:3% AU § ar-sifH # e w B e A R
mrarer far ofie =31 T R enpaa 3:3:28 1 9 ¥ T & R
7000 o B W FIAT 8, T T B I AT B0 |

(1} ¥ 3600 (2) ¥5300 (3) 4000 4) ¥ 7000
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14P/201/5(1)

16. If goodwill account is raised at its full value in the books at the time of
retirement is to be written off, then the capital accounts of remaining

partners are debited in :
(1) Gaining ratto (2) Capital ratic
(3) Old profit sharing ratio (4] New profit sharing ratic

T WS & TR O 3 999 9% sAf @ W 389 G T
% Fm geert § o omen 8, & S o H @ R 99
R B gt et A % R fpaw ST

(1) s S 2) oW g

(3) G e R SIHUE  (4) AT ATARSTST SAPART

17. Adjusting .for drawings ¥ 2000 and his share in profits T 1000, is
T 10000. Interest on capital payeble to him at 5% per annum on the
opening balance 1s !

{1) 350¢% (2) 450% {3) 500% (4) S50°%

g TEET % Ot @ & 2000 T & omweTer od @rd & frely &1 1000
Y AT wE B A ad 3 ofer & 10000 ¥ 0 S 9 ) gt @
F Ot @Y U 5% W AT W/ W A A T —

(1) 350% (2) 450% (3) 500 T (4) 550 %

18. At the time of admission of a new partner revaluation of assets and
liabilities is to be made for the benefit of :

(1} oid partners

(2) new partners
(3) mutual benefit of ald and new partners

(4) old partners who are sacrificing

9 P.T.O.
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19,

wﬂimtmtmmwtﬂﬁfmgﬂw
............ % orw & Fng Ry o 8 ¢

(1) SO ETHER

2) = AT -

(3) T oF T "Wl & oreafvE av & R
(4} gUR wmEe W oEm me B B

In case of insolvency of a partner any balance in reserve fund a/c is
distributed to all the partners -

(1) In the ratio of fixed capitals

(2] In the ratio of fluctuating capitals
(3} In the profit sharing ratio

(4} Equally

% WEER & Refrgr B o Rufy # dRm WY w1 9w AW

g 7 dfer oma ¥

(1) T goft & srgamy &

(2) afterede goft 3 e &
(3) TMA-Rrview @ #

{4) ST

Provision for bad debts appearmg at the time of disgolution of firm is |

transferred to ; o *

(1) Sundry debtors a/c (2] Realization a/fc

(3} General Reserve a/c '{4) Partners Current Accounts.
19
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14P/201/5{i)

%Eﬁﬁmﬂm%ﬁaﬁ%mmﬂmw-m%
UEH W TEH F ewianRg e war k0

(1) Ry 3=r ) = (2) TYE AW W

(3) A HEE @ (4) wERl & = a6

Which among the following is a r:hartem-d mmpany
(1} Standard chartered Bank
(2} East India Company

{3 The Institute of Chartered Accountants of India

(4) Coal India Limited
FH A AN O o e k7

(1} @v3E gIs Fp
(2} gee Edr FH]
Eg@t{cmaﬁsmﬁzmm

[41 F s byes

Which one is not true about "Sweat Equity Shares™ ¢

(1) Itis a consideration other than cagh L |

(2} It is always priced higher than the market prm:

(3} Itis provided to obtain technical know-how

(4) It can be issued after one year of commencement of Business

F W OFHT T R B w7 aw T8t R 2

(1} F% & A A JAEIAT

(2] € T WO GEH B HR BT ¥ |

@) wifafep st orer X &g R s ¥ -
4 wwwﬁ*maﬁmﬁﬂﬁamwh

11 P.T.0.
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23. Security ﬁemim Account cannot be used for :
(1) Issuing Bonus shares
(3) Writing off of preliminary expenses
{3} Buyback of shares
{4) Handling expenses on share allotment

gferafer sftres @ar & AW B g T8 R oo s @
(1) =4 sfer. b

(2) WP =l B AUE

(3] o9l = IO HH ,

4] SERS 9T 3SRt =9 @ e

24. Which is not related to capital profit/loss ?

(1) Capital Reserve (2) Generai Reserve

(3] Share forfeiture (4) Development rebate Afc
ﬁﬂmmﬁmiﬁmmﬁrmﬁﬂaﬂﬁ%?

1) o e (2) HEY O=g

(@) afar wqoy | (4) P gz

A8. From the point of view of transferability, which onc is the best
instrument ?

(1) Account Payee cheque (2) Bearer Debenture
{3) Bills Receivables (4) Bonds '

12
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26,

a7,

14P/201/5(i)

B Bl IR B e § B9 @ 998 =y @A § 7
(1) Wi g% (2) ITH FONT
(3) "o R~ | (4) QMg

"Loss on issue of Debentures” and "Discount on issue of Debentures”
are respectively : |

(1) Revenue loss and capital loss
(2) Capital loss and Revenue loss
(3} Both are Revenue loss

{4) Both are capital loss

Wﬂﬁa‘;ﬁrﬁqﬁwzﬁmmw%(m@m?
(1) e mf o ol wih

(2) ot & od s ey

(3) [ I B

(4) &1 ot afa

Payment of Debentures by instalments means :

{1} Tumely payment of interest on debentures

(21 Acquiring / purchasin- of debentures on instalments
(3] Writing off the expenses on debentures |

(4) Redempticon of dehentures

et =T OGSl W I T 2 7
(1) HOTGE 9T = @ 999 ] T
{2) OISl H R I B

(3) wEgEl & Gt #F e

(4) FOTTHT F/r 4T

13 ' P.T.O.
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14P/201/ B{i}

28. Consider the following Journal entry/entries : -
Qld Pebenture Afc Dr
Discount on issue of ahareafDebEnmms Ajc Dr
To share capital / Debentures A/c
 To premium on issue of nhmfnebenmres Alc
In what circumstances, the above entry/entries may bé phssed ?
(1) Issuing a fresh lot of debentures
(2) Simple Redemption
(3} Redemption by conversion

{4} Both 1 &2

ﬁﬂmmmﬁm_mt:
AT gm0 W™
FHAAT UT A AYN o s 9w
ool /3iSF TR & =L

AT AT 9% 9 afvgy g feles o
forr & & Pt Rerfr & sorsfwer st oft omrelt 31
(1) Muwvrmw & Pebm g (@ svrw poos.
(3) TEOE WU WA o {4) Suadew 19T 2 D
29. Which method is best suitable fore redemption of debentures on 2
‘specific date ? o
{1} Issuing shareas against debentures
{(2) Providing sinking fund ‘
{3) Buyback of debentures
(4) Creating pmvis:ions for redemption R

14
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14P/201/8(1)

o AiREe Reie B wogst
s Wg'mm%tgﬂmmm:ﬂgﬁ

(1) RUT9St % =5t & o¥w o1 Prbw
(2) RifT ooe Ry

(3} STU OIS B T 9T

(4) shaT B R T T

+ As per SEB, the right issue should be kept open for more than ...

days. | |
(1) 30 2) 45 3 60 '(4’)' 90

/W B FPUR, mmmm::wmgmmaﬂtx?
(1) 30R= ) 45RB% (3) eofwm (4} 90 B

Issue of ....... reduces EPS (Earming Per shnrc} but doesn’t a&'cct the -
share caplta] _—

{1} Redeemable Preference share

(2] non- canvcrtablc irredecmabie’ pmfcrenm shaere

(3] Bonus share |

(4] Convertable preference shate
EﬂﬁMﬁTmﬁsaﬁdmu (nﬁrmm}m ¥ gty S
ioft ox Hg wwg 6 g ¥ cu u o

(1) sy qiferpT ota

(2} i e~ qaiftem siw

(3} ANE FN

(4) ot gaifaesre Ay

1 s P'T‘o‘
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32. Which of the following formats has not been prescribed by the

33.

companies Act, 1936 ?

(1) Balance sheet

(2) Profit ard losa A/c

(3) Stateme;nt of affaires of a company
(4) Cash flow statement

Prer & & i a1 e w1056 3 Rk @ ¥
(1) omfiw fergeat ' |

(2) TH-F G

(3) TWedT IiE SR e HraE

(4) et feo

The General Intention behind keeping seevet reserve is ?
{1} To fight uncertain future -

(2) Showing better position than actual

(3] Shnwiﬁg worse position than actual

(4) Supreasion of material facts to avoid tax

T WOy R B NG weEh & oW A 9T Ry Igae R ¥ 7
(1) Sffsaa wisy | Qrer &r

(2) o Refy Ft arais faEkr & seor R

(3) S Ry = gy Rafd | e Ramn

(4} AR T F BURBY & N S8 w0

16
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34.

36.

14P/201/5(i)

&-F:carding to the companies Act 1956, where the dividend proposed
exceeds 12.5% but does not exceed 15% of the paid up capital, the
amount to be transferred to the researves shall be not ioss than ..........
% of current profits. |

T s 1956 % TR g@ew $oll g genia @i 12.5%
q s ST 15% & =7 89 2 390 § dem, a@=E e B R
TS SENFATeT B B 7 _

(1} 2.5% 2) 5% (3) 7.5% C{4) 10%

In the event of preparing profit and Loss Appropriation A/c. Income
Tax on profit through an appropriation of profit is treated as

(1) Expense (2} Asset
(3) Liability (4] Adjustment

ST-g1RT AT @ ST W99 A 9T SngeT, R il
A3 Rk s e ?

{1 == (2) |

(3] srideE (4) THEERA

Surplus is equal to :

(1} Royalty + Mininmum Rent

(2] Royalty - Minimum Rent

(3] Minimum Rent - Royalty

(4] Minimum Rent - Shortworkings

17 P.T.O.

L]
gcollegedunlae
India’s largest Student Review Platform

T



14P/201/5{i)

37.

38.

39.

snfererT AOHT BEw §

(1) Wﬂﬁ+wm |
(2] SIRER gFh - e R
3y =gTem e - NER g
(4) e Revmr - SR

At the time of closing the Books Royalty Account is transferred to :
(1) Balance sheet (2} Profit and Loas account

(3] Production account (4) Manufacturing Account
ARy T A TR 9% 0 TG s ey w #
(1) enfds faed o (2) ww-E ' d

(3) IrET @ A (4) Prbd o ¥

On the seizer of the goods by the hire-vandors the balance in the
asset account is tranaferred by the hire- buyer to

(1) Goods Returned Afc (2) Profit & loss Afc

{3) Hire- Vendor's Ajfc 4) Stock AJc

Rrop-fade &RT Ao & ol qX Ry w8 99 W S AT
searari (e sy ¥ -

) = aredr oy # (2] =mw-sIT R &

(3) Proar-famar & et A 4) e wa o

In case of [nstalment Payment systemn the balance in Interest suspense
account in the books of buyer is shown on the ;

(1} Debit side of P/L A/c
(2] Cradit side af B/L A/cC
2) Assets side of balance sheet

{4) Liabilities side of balance sheet

18
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ﬁ?ﬁwmﬁaﬁﬁnﬁmm@%%mﬂfﬁmaﬁ
et § Ragrar smar ¥

(1) T-219 @ & 2fe gwr #
(2} TTH-BINT @Y B BeT umy F
(3} it Rred F wfed qu #
(4) onfifem Forgd & @ity g A

40. Branch Account under debtor systems is :
{1 Real Account {2) Personal Account

(3) Nominal Account (4] Capital Account

& Faftr-orTETT sy @ &
(1) FefEgs e (2) =Py @
(3) AFEE @R ) Yot @

41. If opening or closing balance of debtors of a branch is not given, it will
be found by preparing :
(1) | Branch Account
(2) Branch stock Account
(3] Branch Debtors Account
(4) Branch Adjustment Account

afE Aererdt = whes ar sfew Ay 9 REm T @, O SuE A
FIH &Y 99 H OEAT ¢

(1) SET S (2) STRET ©RG Sy

{3) M@ BAEC @R (4) TN GHAEOE @l

19 P.T.O.
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42. In which city amongst the following, Presidency towns Insolvency Act
1909 does not apply ¢

(1] Chennai . {2} Delhi
{3} Kolkata (4) Mumbai

Rrerifder 3 € Brg awT  TdRERd eow Rafern afefegq, 1909
AR 718 oraT F

(1) o= {2y Ren

(3)  SPreTER 4) g%
43. List G of the statement of Affairs is related to ;

(1) Book Debts (?) Bills of Exchange

{(3) Property (4) Preferential Creditors

- Ty @ @R ol o &

(1) FIER 2 Rfwa oy

3) wfe (4} EUHR S
44. Demand deposits are shown by the bank in the :

(1) Schedule 03 (2} Schedule 04

(3) Schedule 05 (4} Schedule 06

Hrr g = ¥z oker SEr ¥

(1) e 03 # (2) et 04 #

(3) et os # (4] HFGE 06 F

20
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45. The subscribed capital of a Banking company should not he less than
the following percentage of its authorized capital :

a‘mmﬁﬂﬁmﬁag@ﬁmmﬁﬁagﬁﬁ%ﬁqﬁﬁam
¥ B T8 ar e

(1) 30% (2} 50% @) 70% (4 90%

46. XYZ Ltd. Has Current Ratio of 1.5:1 and Net Current Assets of
T 6,00,000 . Calculate current Assets :

XYZ Ltd. 31 =T ST 1.5; 1mg;aa1qmﬁ'ﬂ! ﬁanoomﬁﬁ
oM B ARy, @i et -

{1y ¥ 12,00,000 2) ¥ 13.00,0{}0

(3] ¥ 15,00,000 {4} T 24,00,000

47. The ratio of debt to total assets of a company is 0.2. The debt to
Equity Ratio would be :
O W P WG] § FFAA 0.2 ¥ A W GAAT ST BN

(1) 0.025 (2} 1,00 3) 0.80 (4 023

4#8. Axis Limited has a Debt Equity Ratic of 2.8 where as the Industry
average is 2. [t means that the company has :

(1} Higher Capital employed {2] Higher Profitability
(3) Higher Liquidity (4) Higher Financia Risk

21 | | P.T.O.
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49,

50.

aFE - wmmwz.stmﬁwmﬁ@ﬁmﬁw
aﬁmm@qﬁzﬁlsﬂ%mﬁﬁmﬁrﬂ%ﬁﬂﬁg
(1} Ser ot AR (2) F @EEr
(3) It T | (4) S Redrg wReA

4
ABC Ltd. has earned 8% return on total assets of I 40,006,000 angd
has & net profit of 10%, Find out the sales of the firm |

(1) ¥ 32 Lakhs (2) T 40 Lakhs

(3) ¥16Llakhs (@) 3.2 Lakhs.

37 9 | @lo aw'fﬁ_f 40,00,000 IT 8% H A HFF &ar & oY
S 9= OrE m%%ltﬁfrﬁﬁaﬁqﬁmﬁmﬁz_@;

(1) T 3a29H o 2) T 40T

3 T 16 @ (4] T 3.2 9

A company has cash sales T 80,000, credit sales ¥ 2,200,000 opening
stock T 25,000, closing stack ¥ 10,000 more than opening stock and
Giross Profit Ratio of 25% calculate inventery Turnover Ratio

{1} 7.5 times {2} 7.05 times
(3) 8.5 tunes (4} 7.25 I:im¢s|!

oF FEET hl TE REsr ¥ 80,000 T SUR ﬁaﬁr ¥ 220,000 %
qrefeqes el 25,000, ARaw ety T 10,000 AR RN

A AT T AT TEHA WH U 25% Wih S SN AT
|

(y 7.57TW (2} 7.65 7T
(3) 857 (4) 7.25 7

22
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51.

52,

53,

14P/201/5(1)

The most rigorous test of hquidity is :
(I} working capital Ratio {2) current ratio
3) quick ratio (4) absolute liquid ratio

I A §Ey we it At B
(1) Frids O omue @ (2) & AT |

(3) S FrgaRr | (4) Iof aXwrem orqum @
Which of the following in non-current liﬁbility ;

(1] Creditors (2) Bank overdraft

{(3) Outstanding wages {(4) Mortgage loan
Frfafem & @ 99 7 o ol & -

(1) e | (@) ¥w afufyes

(3) o AEEf {4) ITH T

When the proprietor transfers his private building to the-business
there ig :

(1] Inilow of cash ' (2) Outflow of cash

(3} Ne flow of cash (4) change in cash
mmmﬁﬁ_ﬂaﬂwﬁmm%:
(1) VT H H=T T8rg (2) WSS =T 959 T

(3) s W FE FBE TE @) Uws F gREEw

23 . P.T.O.
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84. Which of the following is net the application of cash :

S8.

56,

(1} Increase in outstanding expenses
[2) Increase in prepaid expenses
(3] Increase in Inventory

(4) Increase in Bills Receivable

i § § o9 s & W 78 T

(1) Fea =g ¥ ghx (2) T = # g
(3] wkA # =f= -:ﬂnmﬁwﬂﬁ
Opening stock is :

(1) Source of funds - [2) Applicatien of funds
(3) Noflow of funds (4) fixed asset

arefeas 1Bt S R

(1) = T OE | (2) TS W AT

(3) Fre s T8 (4 g FiE

Which of the following ratios is favourahble indication, if it is low ?

{1} operating profit ratio (2) fixed asset turnour ratio

(3) current asset turnour ratio (4] operating ratio

Rrfafs orqael & | 2 orgaw sredl Reafy & saiRfa wwo @
qix 2@ A=y & 7 - .

(1] dEEE | A9 STOE

(2) TR @R SEE A

8) =g WO st g

(4) HE TR

24
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§7. The word teeming and lading are used :

9.

(1) Fraud of cash

(2] Mainpulation in Accounts
(3) Fraud of goods

{4) Fraud of Labour

T oy #fET = oW AW AT ¥
(1) 58 & 787 & R (2) T F

3 7&r & A B Y M R d
An audit programme will be useful if it is :
{1) Elastic (2) Inelastics
(3) Short (4] Detail
% IPeeT HEEH T W ggEnft ey omfs am ¥
(1) wergef (2) avEragel
3wt (4) P
Vouching item is not of receipt side of cash book is :
(1) Bad cdebts recovered (2] Received trade discount
(3) Rent receaved (4) Income tax refund
Apzadl B Ay qor B ToE @ we Tdt B
{1) ST IR (2) ST ST FqgRT
(3) o fErar (4) SRRRT amaHt
28 P.T.O.
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60. Validity of payment means !
(1) Correct amcunt paid
(2) Payment to right person
(3) payments is autharized by appropriate officer
(4) Payment as per rules '

g B &aen & eE ¥

(1) W TER B TR N

(2] 9E iR B PRI 8

(3} e IRpy Afrerd & wferg o
4y A Pregar 9

61. Previous year and assessment year may be the same incasc of .......
(1) income of & hon-resident from dairy
(2] income of a resident from business in a foreign cnunu-:.r
(3} income of a resident from shipping
{4) income of a discontinued business

w-ad ofT FT frgivor o wwr e ¥ &
(1) otfyardt =) 398 & oy -

(2) frreme 5 R 9T & 3N

(3) Pl = ooge | oma

(4] &% HY T AT BN A"

63. Xisanon-resident and received ¥ 1,50,000 form a business ins Nigeria
{40% of which received in India). The amount taxable in the hands of
X in India is
{1) Nil {2) ¥&0,000
(3) ¥1,50,000 (4) €90,000
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63.

14Pf201/5{i)

X afrardr & of 2 1.50,¢ouamﬁﬁﬁmﬁmmn€rmmmm
& (T 40% AT F ore BT B) | W # X B B Braeh geian
T gy enft ?

{i} TH (2) T 60,000
(3] ¥ 1,50,000 4) T 90,000

Mr. A took loan of Rs. 4,00,000 at an interest of 10% p.a. for the
purpose of repairs relating to & house which he used for ouwn i'esidtntial
purpose. The deduction allowable to him under section 24 {3} for the
assessment vear 2013-14 is ;

(1) ¥ 40,000 - {2) Nl
(3] ¥ 30,000 (4) T 1,50,000

ﬁuqmmﬁmﬁmﬁﬁmﬁmmﬁmmaﬁ
AR B 1T Bo 4,00,000, 10% TS 9T HY odT ¥, HTO 24(3) B
I X FaRw gd 2014-15 ¥ RBra a=afsr o € 7t B

{1) T 40,000 | (2) =
(3} ¥ 30,000 , 4 ¥ 1,50,000

Which one of the following receipts is taxable as 'profits in lieu of

salary' ? ;¥

(1} Compensation received under voluntary retirement scheme

(2} Retrencl;tment compensation

(3] Compensation received in connection with termination of
employment

(4) Compeasation received an account of any disaster

27 ' P.T.0.
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66,

AR R A A Y Aaw F WA 7 W ¢
(1) dfmw Jar PR & omria mr I = g

(2} Qar A g BES o OX orer =E W SR

3y Trd § Fred W @ RBew o @ W SR

(4) F¢ gieT & B M ARt W\

TLtd, paid ¥ 1,00,000 to the [8], Kolkata for research in aocial science,
The allowable deduction under sectionn 35 i8 ...

AR e aT sity 39 9t Mo T 1,00,000 #t R 1. 4.
S8 mﬂwmhmmw{smasﬁ
FaT T R Y

(1) ¥ 2,00,000 2y ¥1,75,000
{3) ¥ 1,00,000 (4) ¥ 1,25,000
In which case is the capital gain taxable in a year other than the year

of transfer ? s

(1) insurance claim received on destruction of capital assets
(2] tranefer of listed shares

(3] conversion of stock into capital assets

(4] both 1and3

Fret 3 & Regd ofrmer o e v g & Porg 2 & 7 R
Mt s et W H®

(1) Gofrer waRr #1fy 9T €T S & 9T gERN
(2) EEE e § TR T

(3) TmRmn & ot Tl o sSey

(4] 13T 35+t
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67. Which of the following transactions is not an exempted ::rans&ctmn ?
(1) transfer of capital asset in a scheme of amalgamatmn
{2) transfer of capital asset in a scheme of demerger
(3] transfer of Tenancy ﬁgﬁt
(4) transfer under gift or will

Pt & @y & 39 3 o sRRIRY Samomt A9 3T 8 B 7
(1} QErETeT 3 e & of @1 wearaeo

(2) JERRIEIT B v F I @ s

(3) TRTHT HATRBIT AT BT |

(4 &= a1 Iuser arola O

6$8. 100 Bonus shares were allotted on 7.8.78 (fair market valhie on 7.8.78 :
T 30 per share fair; market value on 1.4.81: T 62 per share). All the
. Bonus shares were sold during 2012-13. The cost of a.uqu:mtmn of

such share .. ‘
(1} ¥3,000 (2) Nil
(3) ¥ 6,200 {4y ¥ 3,200

Rt 7.8.78 B 100 S\ i o fFwr mr (Rrasr Rt
7.8.78 I aTGiaH AT g79 ¥ 30 Uiy sy =1 ouT 1.4.81 = T 62
ufer 9T AEIEE AT g )

A G 39T a¥ 2012-13F 9 99 1 & I|@ I B HY AE
2

(1) ¥ 3,000 (2)

(3] ¥ 6,200 - (4) 3,200

29 P.T.O,
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69. The standard time required per unit of a product is 20 minutes. [n a

70.

71,

8 hour day, & worker produces 30 units. If he gets x:fime rate of
Rs. 20, his earnings under the Halscy scheme is ......L.50¢

w@%ﬁﬁwﬁmm%wwﬁmmm%m
2 g F g FFhATR BT 303 SRk @ S ¥ ) Al 97 W
ﬁfmzﬂmmmtﬁra‘aﬁm%ﬁm_m%:

(1) T 160 (2) T 180 (3) T 190 (4 ¥ 200

; i
1 the actual output is lower than the budgeted outp}jtt_* Which one of
the following costs is expected to be lower than in th:a l?udget ?

(1] Fixed costs per unit {2) Variable cnﬁsl per unit

[3) Total fixed costs (4) Total variabi%:?nsts
af* W SITEET @ greias ey w9 ¥ P it e w are
aoe ¥ =H o wE R ?

(1; Teerg @ af gfeE
2) uRerd=Teiet AT SR g
(3) T Rt WFE
(4) A SR e o

Which one of the following is not charged to factory overhead ?
(1) costs of service departments '

(2] costs of maintenance departments

(3) costs of marketing departments

" {4) factory depreciation and supplies

30
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ﬁmﬂ%ﬁwmmﬁmﬂnﬁﬁaaﬁrﬁrm%?
(1) @ar Bt & o (2) . ST Ro\rT ¥ w e
(3) Rema e o s (4) FREFT #7169 o gt

« The appmpnate base for assigning overhead is producuun unit when

(1] only one product is manufactured
[2) several well differentiated products are manufactured -

;3} the manufactaring process is complex
- (4} the direct labour costs are Jow

mﬁaﬁf%mﬁ%gmﬁagﬁzaqgﬁwﬁm
(1} 19 %as oF Ses 1 P far &t

(2) ﬁﬁaﬁmﬂ?gﬂﬁmﬁumﬁﬁﬁammﬁﬁ
(3) Prter uftrar sifeer &

4 € TRghH wEm =g @

« Fixed costs are conveniently deemed to be ..............c
{1} constant in total when production volume changes
(2] outside the control of the management

(3) constant per unit of output

i4) these unadfected by inflation

et o st & ferh &

(1) T FH A= il 89 g ft gE 7 Rew &
2) ¥ & Fra=or @ 9 B

(3] 9T g & IR 9T wWE B

(4) ¥ HET W # s w2

31 P.T.0.
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74. Which one of the following muﬂnglméﬂ\oda is widely used in internal
reporting ? | A
{1} Absorption costing {2} Direct costing
(3) Marginal costing {4) Standard costing
ﬁwﬂ%mmmﬁrmmamwﬂmﬁm
37
(1) SEYISTT WPRY (2) SO AR
(3) EHFE WP (4) W9 EFRT -

T
78. A company has sales of ¢ 2,00,000 with varm:l:::_lg expenses of
¥ 1,50,000, What should be the increase in roles in ‘order to achieve

an operating income of 10% on sales ? |

o T T 200,000 Z Rt wER B Prew oRedwie =9

7 150,000 1 ¥ T& Peoel Rl wgeh B forad swa aftere
A s =t 109 BT IR -

{1} ¥ 2,00,000 @ ¥2,31,000,
(3 ¥ 251,000 (4) N,m.uop

76. Partnership firm is set-up for the purposs of :
(1} Promoting public health and welfare
{2) Running a busincss
[3) Protecting environment

(4) Preserving forest

32
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7.

78,

(1 eﬁmﬁmqﬁmw%ﬁaﬁ?%g
(2] JFIEE HEeT 2
@) Tl e By
(4) ST H HLOT g

Which of the following is related to partnership ?
(1) Mutual agency {2) Common sea]
{3y Direct mbtivatian_ (4) Perpetual succession

Frafafea. & & 29 o aierd & wfaa ¥ 7
(1) IR SRR (2 wEgE

(3) s SR (4] IMET SR
Trﬁde unidn is a form of |
(1} Fedetdtion (2) Pool
(3) Association (4} Merger
ST H‘Er T e 8 -
(1) T | (2) I
(3) ©T - (4) e @
Pool came into being in :
(1) USA (2} Japan
- (3] Germany (4} England
33 P.T.0.
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80,

81.

oW B IR g

(1) 9. 98, 2. ¥ (2) Soe #

@3) I # (4] ¥ews

Cartel is combination of :

{1} Distributors (2) Wholesalers

(3} Retailers . (4) Producers

Iz 69 d@aeE ¥

(1} Prest @ (2) W =AQHYar
(3) TG Al @) Tememi W
Which of the following is a feature of organisation styucture ?
{1)  An &ct of selection {2) Pyramidic m!‘onn

(3) A mental process (4) A psychological process

Rty o & @ &1 dvew woa o o e ¥ 2
(1) wHA W O O o= (2) W%mm
(3) R [T AT W (4) TH AAAMETE AR W

Which of the following is nat related to functional organisation ?

(1) Gang Boss (2) Speed Boss
{3} Repmr Boss , (4) Time Boss .
Prfafee 3 § B9 o1 wWies g § gty o b ¢
(1) 7 g (2) €= I
(3) TOgx & | (4] =W ﬂﬁ-’l

as

L]
gcollegedunlae
India’s largest Student Review Platform

—



14P/201/5(1)

83. Who has classified management functions into five parts ?

(1) Henri Fayol (2) F.W.Taylor

(3) George R- Terry | (4) Luther Gulick
T HE PR o wt & wfie Rear & 7
(1) 38 & 3 (2} wE.ZTE, 2o '
(3) =l &R, 29/ 9 4 guTgEE N

84. Who is responsible for performing the planning function of

management ?

(1) Share holders (2) Menagers

{31 Warlmrs ‘14) C?utmders
m%ﬁﬁmmﬁmﬁﬁ%mﬂ%ﬂmﬁ? ?
(1) T : (2) SEUE
(3) W, (4) &l =R
85. Which of ﬂleilfnllamng is an element of plai:ming >
(1) Guiding, | (2) Reporting
(3] Policy (4] Selection
ﬁnﬂﬁﬁ'ﬁﬁ F ﬁ 7 w1 P 5 O oo & 7
(1} arfasfH (2} mRRET
@ R () ==
35 | P.T.O.
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86. Who has said, "planning is fundamentaily choosing” ?_

(1} Billy E. Goetz (@) F.W.Taylor

(3) Mc Farland (4) Earl Strong
Rrg Har e gER: g B 7

(1) Ry £, Mo (2) TH. TwY AW

(3) T FRAE (4) e T

87. Organisation does not iﬁcludc :

{1} Division of work {2) Group of indivduals
(3) Sources of authority (4} Formulation of budget
He mAiee T FEr ¥
(1} = FH Bees (2) =afETat & AHE
(3) fiperst = YR 4) =ore = e
88. The principle of receiving orders from one superior is termed as the
principle of : '
{1) Unity of command (2] Unity of dirction:
(3) Functional definition (4] Span of management

et W Feadt § wer Hew R FHwann ¥ o
(1) STRQT &1 THAT H 2} Py it O
(3) . Fratere afvasr w 4) = & RRETT @
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14P/201/5(i)

Decision making theory of organisation has been propounded by :
(1) Rensis Likert (2) . Chris Argyris

{3) Herbert A. Simon {-4) Henri Fayol

e # Pl Ryar sRvafe R Wy ¥

(1) | wgwd o (2) B FCTERE BN

(3) BW@ET O, WHY ERT 4) B8 e ar

Staffing is an act of :

(1) Matching the people with jobs

(2) Matching the people with planning
(3] Controlling the people

(4) Motivating the people

(1) 7 o = B | e s
2) @ = FEeE ® e B s
(3} VI I PRI &

(4] @F = i wow

The process of coming to a conclusion is related to :

(1) Planning {2) Organising
(3] Directing (4} Decision making
Freed o7 qd= A afrn weafag B
(1. Praie & 2) €= |/
3) MR | 4) Fyolas |
37 P.T.0.
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92, Organising includes :

(1] Issuing orders ol (2} Counselling

GSﬁ Superﬁaing (4) Granting authority
deer & afnfe ¥ )

(1) ondatt w Fofm 2) wTEet A

(3) THART HTAT @y srfermre =

93. Which of the following is a principle of directing ?
(1) Principle of managerlfil appraisal |
(2) principle of management development
(3] wrinciple of job definition '
!4y principle of managerial mmmunicaﬁnn |

Rrsfaias # & @ o Ry & R 8.7
[1]‘ T HETE & e
(2) =g R = ﬂqm:a
(@) s aframr & REr
(4) SEFTERE HEHEE W Ry
94, The process of control doea not qo'nsiut of :
(1) Measurement of performance
(2} Detection of deviation

(3) Establishment of standards
(4) Break-even point analysis

38
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ﬁlﬂ'ﬂﬂm;‘fﬁﬁma':
(1) %ﬁwg@‘hﬂ (2} ﬁaaaa%ra‘lw
(3] A% o =T T 4) "9-Rregw frg Redaw

» Nen-budgetary cantrol technique includes

(1) Audit (2) Statistical data

{3} Break even point analysis (4) All of the above
e arft Pradsrer et 3w B
(1) e (2 wiRwET T

(8} wm-fredy fg Redtwr (4 agdeer o

A void agreement is one which is

{1} Valid but not enforceable I

(2) Eniorceable at the option of both the parties
{3) Enforceable at the option of one party

(4] Not enforceable in a court of iaw

TF T O qE ¥ Wy iR :

(1) R 2 g w2

2) A B PR § R T TR ¥
(3) % ST B Ry qv gadiyg &

(4) Rt < & seebhg o &

39 P.T.0.
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97.

98.

Cash withdrawn by a customer of a bank from the automatic teller
machine [A.T.M.) is &n example of :

(1} Express contract ' {2]_ Void contract
(3} Tacitcontract (4} Illegal contract

e e weE (A ® ¥ % o e ara Feeel
ARSI, SEET B -

(1) e w@REm = (2) LI HiEEr &
(3) A= iy (4]aﬁfﬁmﬁﬁﬂm

A promises to pay to B Rs. 1000 if B's house is burnt. Thisisa:

{1) Contingent i:ontract {2) Uncertain cqntract

(3) Wagering contract (4) Enforceable contract

T 3 HmE A T @ 9¢ o, € W 1000 Fo HEE FHR W FEH
I E, AE B -

(1) et s

(2) =i dReE

3 q@nmmwﬁ#ﬁm

(4) Tad+ GEEr

. When two parties exchange identical offers in ignorance of each nther's

offer, the offers are calted :
(1] Cross offers {2} Counter ofiers
{3) Standing offers (4) Invitation to an offer

40

L]
gcollegedunlae
India’s largest Student Review Platform

—



14P/201/5(i)

T & TR 9 gAY B A B g 5wt o B 5w
g A 56 oW & ST deed ¥

(1) rE Tw (2 R T
(3) =™l gEamE (4) W FT IHEOT

100.A new partner can be admitted in the firm with the consent of -
{1} All of the firm's partners
(2) Simple majority of the partners of the firm
(3) Spécia] majority of the partners of the firm
(4) New partners only

mﬁwwmﬁtnﬂﬁnﬁiﬁﬁsmwm%

) W & i aeiRy & wEei A
(2) ﬁ%W‘QWWMMQ
(3) H % wrfiat 3 RBew qgee aZa wenly @
(4) B T WFEG ¥ gawfa @

101.A and B agree to work together as goldsmith but A shall receive all
profits and shall pay wages to B. The relation between A and B is as

- of:
(1) Partners (2} Goldsmith
{3) Labourers H“] Master-Servant

A AT T e K g F F  HUL B & Ieg 5w we
Ot FHEM AR F B Fad GOG JM) T AT T B 9m =Y ¥ -

(1] PSR & ' (2) g &
@ ofis & | (4] =ieER AT AT &

41 P.T.O.
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102. Which of the following statements about implied authority of a partner
18 true ?
{1} A partner in a firm of commercial nature may pledge the
partnership property
(2} A partner may acquire immaoveable prnpﬁrty on behall of the

firm

(3)- A partner may enter into partnership on behalf of the firm

(4) A partmer may transfer immoveakle property Helonging to the
firm ' '
el @ frafE sftedt & s 7 Rrefyfag § @ f9 @
FYR BT & 7 | |

(1) arfefers e 2 v o o gl Aeierd axafer # R
I HEer 8 '

2] T & e o IR oEe @ik 9T HY 9ER E
3] @d & forg Rl ot weflErd o & wefie o5 g @
(4] tﬁﬁaﬁwmﬁamf,ﬁmwmmi

103. Which one of the fcllowing atal,tf;ment is correct ?
{1} Agreement to sale is executory contract
{12) Arteemtent to sale is executed contract
(3) Agreement to sale is both executed and executory contract

(4) Agreement to sale is not an executed or executory contract

43
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g A S AT s s g & 7

(1) T<=hT =1 HUT &k ey SiEr 2

2) T = R MR d@ier 8

(3] ﬁmwmﬁmﬁﬁﬁ?mﬁﬁmﬁé’t%

(4) e & HaT Peafa 7 R 39 & s 6 G 98

104.Which of the following is not an implied condition in a contract of
sale ?

(1) Condition as to description
(2) Condition as to sample
(3) Cc:-nd_jtiﬂn as to undisturbed Possession

(4) Condition as to wholesemeness

U Ry & wi H Praffae 3 @ B O Rafeg o 98 & 7
(1) T & HIER W

T B STTETC Aw
(3) ey e & StgEm o
(4) W GZ4T & JEIK 99

108, The sale of Goods Act, 1930 deals with ;

(1} sale - (2) . Mortgage
(3] Pledge (4} Lease
oo Teppg sfafagwe, 1930 @9l s §
(1) FEmpa 9T (2) S T
@) et Ox (4) 9%2 9
43 - P.T.0.
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106.1n an auction sale the property shall be sold to the :
(1) Lowest bidder | (2) Highest bidder
(3] All bidders (4) Not to any body

Py zr faesa o wegfey @) SR
(1) =8 B9 SRl T T B

(2) WEY SO RS TR TR A
(3) |4 Sl T at @

(4) Frdr = A4

107.An instrument in'writing containing an unconditional order signed
by the maker is called !

{1} Cheque (2) Billof Exchang:t;

{3) LO.U. . (4) promissory note

e RPer v R R e oTRe Prewas a w8
(1) &% Hmar & |

2y R o weem B

(3) o1 wrghr 9% (end.of.g.) FEwEr '

(4) TET IH HETT &

108. A person who receives a negotiable iustrument in good faith and for
valuable consmderation is known as ¢

{11 Holder (2] Holer for value
(3) Holder in due course {4} Hoelder in right

44
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waﬁﬁvﬁﬂammmﬁmwmm
T BLAT 8, I8 T B

(1} 9= (2) T 9w
(3] TEFH ITHEH aTw H}aﬁmﬁmﬁm%

109.A promissory note drawn Jointly by X, a minor and v, a major is :
(1) Void
{2} Valid but not negotiable _
(3] Valid but can be enforced only against Y
{4) Can be enforced against only X

T T HfRT o P g% w9 @ X aro o oF auges o an
Y S qges & arg R T e

(1} I &mr 2

(2) &9 B W=y T §

(3] A9 ¥, O I Fuw v. & ofr wrifae R o Gmar ¥
(4) Fa9 X & ufy & wwitae R v wwer §)

110.Contracts entered into by a company before its incorparation. are
called :
(1} Provisional Contract
{2) Preliminary contract
(3} Pre-incorporation contract
{4) Provisional and preliminary contract

45 P.T.O.
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Mmﬁﬂﬁ%gﬁﬁﬁqﬁmﬁm%
(1) owifm diea
(2] SREE dEEd
(3) Pree & g & d@fREd
4) o ol st wREE

111. Who has said, "A banker is a dealer in debts-his own and other people™?
{1y Horace white | (2] Crowther
(3) Findlay Shirras {4} Sayers
Rrem &t €, “mﬁmﬂqﬁaﬂrmaﬁﬁ%wﬁzﬁr%fﬂm
e &7 7 L
(1) Ry =mEe ~ (2} ST
(3) Trosd R @) e

112, When of the following is the oldest Gold standard ?
(1) Gold Exchange Standard  (2) Gold Bullion Standard
(3) Gold Currency Standard [4). Gold Reserve Standard

Rrefofae # § #= @ G goEr @ § o
(1) w@of AfwgEs '|2]?ﬂﬂ'it11§,r:|1_=_r
(3) o RAH T [4;@%-

113.'RTGB' stands for -
(1} Real Time Gross settlement system
(2) Regionat Teller Google settlement system
(3) Rapid Time Gross settiement sysiem
{4] Real Teller Google settlement aystefn |
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AR, I, O ud. d o B

(1} 9 T=w g AN frew
(2) @ IR T Afrede fyes
(3l T =mW w Afeerde R
[4) 9= o Afrwde Ry

114.Exchange Equalisation Funds were established under which form of

Gold standard :
{1} Gold'Bullion standard (2) Gold Exchange standard
(3] Gold Parity standard | (4) Gold Reserve standard |

ﬁﬁmmﬁﬁmmﬂ?rﬁaﬁwwhﬁéﬁmwﬁa&ﬂ%
o : '

(1] w=o7 ¥Ry (zjmfﬁ!rﬁmﬁ

3) T gHATATY 4y =or Fftras

115. 'Actnal Money is also called as -

{1) Unit of Account - {2) Unit of cﬁrrr:m:y
{3) Commodity money (4) Representative money
qERAE YEU B A T ¥ |
(1) Rww & o ~ (2] 99 P TEHE
(3} ==y T {4) wffier ger
47 P.T.0.
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116, The basic difference between overdraft and cash credit is : |
(1} Overdraft is a temporary facility whereas cash credit is relatively
a longer run facility

(2) Overdraft is a permanent arrangement whereas cash credit is a
short term temporary arrangement

(3] Overdraft and cash credit is same

(4) Owverdraft is allowed against ne'gntiab]f: security whereas cash
credit is advanced against fixed assets

ARRd oo e an ¥ gw o= g ¥

(1) wieREd erard g ¥ wwfh TS W SNERE 05
frfareie gRen Bt 3

(2) ofeferd il syEen ¥ e AT o sredr ST §)

(3} RS T T e oF ® gEe e ¥

(4) WWW%WQT%M%W&EWW
ardl graferEt ® e 9T & S B

117. The Issue of currency notes by the RB.L 18 :
{1) Proportional Reserve system
(2) Minimum Reserve system
(3) Fixed reserve system
(4] Maximum Reserve system

g Roed & & e b 3t gsfr 8 -
SAafeEr HY S [2) TR BN TEfET
(3) iR W gska 4 s B =i
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118. The ohjective of IFC is :
(1) Encourage private enterprise
{2] co- ordinate capital with management
(3) Encourage Foreign Investment
{4) Al the above

(1) sl Tesy it Doy 37 |
(2) T qon S B ool won
(3) Ferdshr gofy A siemesy 27

(4] SUUF A

119, The warld Bank Group consists of the following institutions
(i) [IBRD, IDA and IFC
(2] IDA and IFC
(3) IDA, IFC and MIGA (Multi]at-eral investment Guarantee Agency)
(4} IBRD, IDA, IFC and MIGA (Multilateral Investment Guarantée
Agency}

v ¥ g § Praifae gt & aaRe §

(1} IBRD, IDA &7 IFC |

(2} IDAGETIFC

(3) IDA, IFC 9T MIGA (mEIeiT Rifrdy midr sy

{4) IBRD, [DA, IFC 79T MIGA (FERI RFEmT 6 s1fdmm)

49 P.T.O.
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120, Make correct pairs : |
{1) World Bank (a) Inrestment in Industries
(2) IDA (b] Loan for Development
(3} IFC (c) Long term Concessional
Loans
{1) 1{b}; 2(ck 3la] {2] - 1a); 2{c); 3(¥)
(3) 1lc); 2(b) 3(a) (4} 1a); 2(b); 3(c)
HE M =T
(1} Rreg &% (a) A & RFrer
2 k. ., Q. (b) T % fore ST
(3) od. o, . (2) drdwei FEwll W
(1} 1(b); 2(c); 34a) (2) 1ia); 2(c); (b}
(3)  1ic): 2{bj; 3l (4) 1{a); 2{b}; e}
121. Monetary policy of the RBI is ducﬁbed as the policy of :

(1} Controlled expansion (2) Expansion and growth
(3) <Crowth without stability (4] Cheap money pinlicy

aRdra o & o A ey @ L. @AY & BT aew
frar omar & | '

(1) - Frafm R (2) Frare ot aRx

(3) g fsr R (9 g A ARy
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122.Bank rate is an instrument of :

(1) Accepting deposit (2) Controliing money
(?) Contrelling credit (4} Lending money
i R P W UF G B

(1] o7 e s (2} T FEEYT
(3) wrm fFrEme {573 (4) 99 IarT 3]

123, Which of the foliowing function is performed by R.B.I. ?
(11 Discounting of Bills
{2) Credit Creation
(3] Custodian of cash reserves of banks
(4] ﬂwnthlp of other banks

Wﬁﬁmmmwathmm%?
(1) faat = &gz wom

(2} W g

3) FH F g dwg & NS

(4) 39 AR W =i

124.A scheduled commercial bank is one which is :
| |1;|1 'fjmcd as a pﬁrmerahip firm
{2) Included in the second schedule of the RBI Act, 1934
(3! Established und-er_ Banking Regulation Act
(4) Subsidiary of RBI | |

§1 P.T.O.
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v FERa e &% 7w B, S

(1) e o & =g & e W@

2) g Red &% @w, 1934 & fadm avpadl ¥ wiaRw @
(3) ¥Pp BT e & ol i B

(4w o 9 B 9EE

128.Demand for money in the modern sense is dependent on :

(1} Liguidity preference [2) Velocity of circulation
(3) Volume of exchange (4] Volume bf money supply
Tt W o A A gt iR B

(1) TTewRn AWEM (2) W A

3 fafrmm 8 A (4} TET IATYRY & AR

126.A distribution has mean = 18.6, medion = 17.5 and mode = 16.2 The
distribution is : -
(1) Positively skewed (2) Negatively skewed
(3) Symmetrical (4] A symmetrical

u,zﬁEamwﬁnm—la.é,mfhﬂﬂ-msahawmls.z g a
PR 2

(1) T e (2) FEOmeHE fsEr
(3) EHEA (4) & HHH
197, Median is also called :
(1) First Quartile L (2) Second Quartile
{(3) Third Quartile (4] Quartile Deviation
L
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WP H 9% { war ey 2 -
() Sem agufs 2) fact wgets
(3 T aguts 4) =guls Peem

128.In a batch of 13 students, 4 have failed. The marks of the successful
students were 40, 56, 37, 65, 37, 39, 81, 71 and 44. Find the median
marks : '

13 Renfeidt & e #, 4 srgRest B B 1 AR swfvf o B e
;05'56,37,65,3?,39,81,71«3?!‘?44%t"?rWWMW
(y 37 2) 39 (3) 40 | 4} 44

129, The mean of squared deviations gbout the mean is called :

{1} Standard Deviation {2] Quartile Deviation

(3] Mean Deviation (4) Variance ‘
iR & g & e B R oy &

(1} ™ Raes (2) =Jufs Raee

(3) =g e 4) SEIOT

130.{Mean * 3 Standard Deviation} covers :
(1} 50 % jtems (2) 90.% items
(3) 95.45 % items (4) 99.73 % items
(" +3 HrE Reee) oat & B
(1] =g # 50 % (2) TSI =H 90 %
(3) &I T 95.45 % (4) % P 99.73 %

53 P.T.O.
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131.1f % =500 and o =250, the coefficient of variation is:

aft K=500 SNT o=250 @ FECy & JUD 3K
(1} 25% 2) 50% 3) 75% (4): 100 %

LI T
ii-.

133, Find the coefficient of variation, if the swm of squares n-fﬁﬂcviatians of
10 observations taken from mean 50 is 250 ;

ﬁﬂmzﬁrmﬁmw&,uﬁmﬁ'&mﬁ%aﬁ?m%@ﬂ
1 AR 509 & 250 8 ¢

(1) 10 @ 25 (3 SO (4) 250

133. Karl Pearson coefficient of correlation will be positive when :
(1) X increaser, ¥ decreases
{2) Y increaser, X decreases -
(3} Both X an Y are increasitng
(4) X increases, Y remain constant
mﬂﬁmﬂ%mmmrgmﬁm%'m :
1) xepear ¥ yoemr ¥ . (2 XuemEywWgawwd -
3 X ATy wemE 4) X s ¥ y feux wEew 3
134.1f £D? is zero, the spearnians Rank cnrrclgtior} coefficient jwill be :

_____ P .
-, -

afr $p? g &, Qads W gEeww NS B
1 -1.0 (2) -0.3 (3). +0.5 (4} + 1.0
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138, Fisher's ideal index formula satisfieg :
(1} Circular test
(2} Time reversal test
{3) Facter reversal test
(4) Both .the factor reversal and time reversal test

mﬂ'ﬂmm'ﬁ?ﬁﬂﬁmﬁz

(1) SRy gy

(2} =9 SierT qfiaer

(3) IUEET Sfem ofemy

(4) T 9T AReI oF wm nRpTE sy

138, Ordinal measure of utility is required in :

{1} Revealed preference (2} Utility

' (3) Indifference curve (1) Demand curve
SN H FY HE FFEAT & STTREEAT & -

A1) wErEr aiErEr § 2) Iufwr &
(3) IreiTar wWE & (4) #fr g &

137.In the case of an inferior good, the income elasticity of demand is
(1) Positive 2) Zero
(3) Negative (4} Infinite
% P aeg B e A o A oomg A SR B
(1) -9 (2} =
(3) TS (4) o '
55 P.T.0.
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138.1f regard less of changes in its price, the quantity demanded of a good
remains unchanged, then the demand curve for the good will be :

(1} Horizontal (2) Vertical

(3] Positevely sloped (4) Negatively sloped

aft e T o A SReR R o ohT o e A AR W A
sfeafte @ & weg & forg Wi w6 BT

(1) & (2 =

(3) oTRE TS (4) RIS TG

139.Firm gains abnormal profit i monopolistic competition when

ﬁmmﬁwmmtm:
(1) MR=MC (2) AR > AC
[3} AR = AC . (4] AR < AC

140, When the price of a subsitute of & commadity x falls then the demand

forx:
(1) Increases - (2} Decreases
{3) Remains unchanged 4) Fluctuates

me%Mﬂmﬂﬂﬁ'tﬂﬂwxiﬁﬁﬁ:
(1) g B - 2) ged ¥
3} T =EEme TE BN (4) wee T B
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141.The concept of imperfect competition was propounded by :

(1} Marshall (2} Jevons

{3) John Robinson | {4} Ms. Lillian Gilberth
FYet il = aren sfrafE fae 2 I

(1) st | (2) SEFE A

(3) W= i A (4) sl Rfera femaer 3

142. Price discrimination is beneficial when :
(1} Legal acceptance granted
(21 Difference in elasticity of demand
(3} Difference in distance of rmarkets is greater
(4) Market is small

HFer fads arwers S & o
(1) FHIFAr TR v &

(2} A oA # e &

(38) I=RY # Him i atfire @
(4) FoTT WY B

143.The FRBMA stands for :
(1) Forcign Regulation and Budget management Act
(2] Fiscal Responsibility and Budget management Act
[3) Finance Regulations and Bonds management Association

(4) Fund Reallccation and Budget managetnent Act

57 P.T.O.
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FRBMA & angd @ : |

(1) Fadal PPy qu sote geea SfEEH

12) TR SR T W W AT
(3) Frer Pafrrg aen &fE SaT €9

(4) TN YA: THTT T WOE AR T

144.One major factor that has stimulated the globalisation ?rﬂﬂﬂﬁ-ﬁ is ;
(1) Effective utilisation of resources
(2} Increare in income and wealth
{3) Willingness to cooperate

(4] Rapid improvement in technology

'%ﬁwﬁmzﬁtﬁﬁam%mwugamﬁ%:
(1) wEmEt W oTEEl I |
2y T g ae & 3

(3) WEURT HA A OFET

(4) W%%ﬁﬂmgm

148, Co-existehice of cahitalism and socialism isa feature of
{1) Laissez Faire (2] communism

(3) Socialism (4) Mixed Economy
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Wammm%mﬁﬂm%:

(1} S=FH reierger o (2) HPIgEE v

(3) HHTEE T (4) M areferaen =
i4ﬁ* Optimum welfare can be attained only under :

(1) Mornopoly | {2) Impt_af'fect competition

(3} Perfect competition (4) Oligopoly

ST FeroT gy RRT o weRer @ R

(z)rwﬁlﬂmﬁ" (2} TPt afeEfar #

(3 v nREfRT § (4) oTeitEpT &

147, Under new Industrial Policy 1991 .

(1) The mandatory convertibility clause is applicable for all term
loans '

{2] The mandatory convertibility clause is applicable for term loans
| less tHan 10 years o |
(3) The mandatory convertibility clause is applicable for term loans
of more than 10 years

(4) The mandatory convertibility clause is no lahger applicable

7% ieife A 1991 % ek -
(1) SIPEr = gremia ot @afy =woit & e wm g &
(2) AfErd aRetaar armia 1049 @ 791 3wl =01 & B
oY, S #
3) Ffva [
(]mmmﬂmmﬂrma&ﬁaﬂm%mwﬁ%
(4} oA aRtedaT i o @r w9t S B
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148.1n the casé of Giffen good, the demand curve will be :
(1) Horizontal |
[2) anm:vard sloping to the right
(3) Backwerd falling to the Jeft
(4) Upward sloping to the right

PR a&g & TaFg # R 96 B
1) &=

(2) o SR oy age

(3) dfr ofw ©iF @ T Pre w oEr
@) St ol s Fge

149.1f & good is a heoury, its income elasticity of demand is ;
(1) positive and less than 1
(2) Negative but :grcate:r than -1
(3) Positive and greater than 1

{4} Zero

% o g PR B, & oo Wi @ org e ol ¥ 2
(1) TATE ST 1 § FA (2) MO AR -1 q U
(3) a9 W 1 | S (4

60
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150.India is not a member of :

Ul eas 2) UNO
#] ABRAN (4) Commonwealth
YT T 8 B
(1] G-15%r () UNO =
[3) ASEAN & - (4) TRy #
61 ‘ ; 5,000
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